

Q1/ Solve the following first order differential equation:

$$-ydx + (x + \sqrt{xy})dy = 0$$

Test for homogenous

$$\frac{dy}{dx} = \frac{y}{x + \sqrt{xy}} = \frac{\lambda y}{\lambda x + \sqrt{\lambda x \lambda y}} = \frac{\lambda y}{\lambda x + \lambda \sqrt{xy}}$$

$$\frac{dy}{dx} = \frac{y}{x + \sqrt{xy}} \quad \therefore \text{homogenous}$$

$$\text{let } \frac{y}{x} = v \longrightarrow y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\frac{dy}{dx} = \frac{\frac{y}{x}}{\frac{x}{x} + \frac{\sqrt{x} \sqrt{y}}{\sqrt{x} \sqrt{x}}} = \frac{\frac{y}{x}}{1 + \sqrt{\frac{y}{x}}}$$

$$v + x \frac{dv}{dx} = \frac{v}{1 + \sqrt{v}}$$

$$x \frac{dv}{dx} = \frac{v}{1 + \sqrt{v}} - v$$

$$x \frac{dv}{dx} = - \frac{v\sqrt{v}}{1 + \sqrt{v}} dv$$

$$- \frac{dx}{x} = 1 + \frac{1 + \sqrt{v}}{v\sqrt{v}}$$

$$-\frac{dx}{x} = \left(\frac{1}{2\sqrt{v}} + \frac{\sqrt{v}}{2\sqrt{v}} \right) dv$$

$$-\frac{dx}{x} = \left(v^{-3/2} + \frac{1}{2} \right) dv$$

$$-\ln x = \frac{-2}{\sqrt{2}} + \ln 2 + C$$

$$-\ln x - 2\ln 2 = -\frac{2}{\sqrt{2}} + C$$

$$-\ln x - \ln \left(\frac{y}{x} \right) = -\frac{2}{\frac{\sqrt{y}}{x}} + C$$

$$-\cancel{\ln x} - \ln y + \cancel{\ln x} = -\frac{2\sqrt{x}}{\sqrt{y}} + C$$

$$(\ln y + C)\sqrt{y} = 2\sqrt{x}$$

$$4x = (\ln y + C)^2 y$$

H.M. Jaff

Q1/ Solve the following first order differential equation:

$$2x + x e^{xy} y' + y e^{xy} = -2yy'$$

$$2x + x e^{xy} y' + y e^{xy} + 2yy' = 0$$

$$(2x + y e^{xy}) + (2y + x e^{xy}) \frac{dy}{dx} = 0$$

$$\underbrace{(2x + y e^{xy})}_M dx + \underbrace{(2y + x e^{xy})}_N dy = 0$$

$$\frac{\partial M}{\partial y} = 0 + y \cdot x e^{xy} + e^{xy} \cdot 1 = xye^{xy} + e^{xy}$$

$$\frac{\partial N}{\partial x} = 0 + x \cdot y e^{xy} + e^{xy} \cdot 1 = xye^{xy} + e^{xy}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \therefore \text{exact}$$

$$(1) \quad M = \frac{\partial f}{\partial x} \rightarrow f = \int M dx$$

$$f = \int (2x + y e^{xy}) dx = x^2 + e^{xy} + g(y) + C$$

$$(2) \quad N = \frac{\partial f}{\partial y}$$

$$2y + x e^{xy} = 0 + x e^{xy} + g'(y) + C$$

$$g'(y) = 2y \rightarrow g(y) = \int g'(y) dy = \int 2y dy = y^2$$

$$f = x^2 + e^{xy} + y^2 + C$$